a(3 ) (rad)
a(d cot(B))

1071

H
o
iy
T — e

0.95

: 1072
107 sl I
o swopphreHOE MGG B, L o105 L
g : 8 I : : : : :
o X a4 L N N
4 B 1 9 9 L4
[ [ g 4
3

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__original
—e— DQM_TT__detQ0_PU
—— DQM_TT__detQ1_PU

=

g k £
e - i
=~ [ ~
s [ o
‘6’ Bf o
107H
B
o + - B NEiN
Oloa%....i....i’....i....I....I.... 0100%""'""""'i"""""""
b= [ f H i . b= [ f
o [ H nd [
111t H 1 HH H
R e 1 2 3 Rt R 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

~ : :
a R
Ll R P
o
o N I :
R R
T “5-“ '!“ 1l
1 1 11[4] ? il
107 |l } bl {uie i
A I il i i
'9 J..UJ_ :
T r i
[ L
1+
0953 1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


